3977 | 46.3%
3977 | 46.3%
0 0

5 713

475

40.1

8,287m
2,134




2411 | 73.2%
2411 | 732%
0 0

516

298

2,660m
646




JR

L=1,500m
W=6.0(9.75)
1

1,800 | 60%
1680 | 58%
120 | 99%

JR

JR

JR




B/C 4721
14,880 L=540m
1
1=9,700m 1
L=4,200m
L=500
H18 = 16,736m
L= 16,736m V=829,733 3
V=829733 3 = 17,026
L= 17566 3
3 8
14,880| 14.0% 1
1
12,963| 14.3%
H47 1917| 12.1%




10,588
L=9,918m
L= 19,884m
V=853,760 3
L= 19,884
8 S49
1
1
1
10,588| 43.0%
9,960| 43.3%
H45 628| 39.0%

L= 14,642m
V=284,185 3
L= 14,642
6

1

L= 5242m
V=769575 3
L= 5242

2

1

1

3

1

B/C=29.89




L=1,800m
L=3,600m
V=93,360m3
L=3,600m

N=5

S60

4,940

60.5%

H40

2,696

40.4%

2,244

84.6%

L=161m
V=13,130m3
L=161m
N=2
1

L=3,439m
V=80,230m3
L=3,439m
N=3
N=1

B/C 797




3518

H12

5,694.0

13.9%

H34

5,694.0

13.9%

180

1 m3

3,338

11 m3

—

B/C 335







